3. ZIRFEBRDMRE @ EEL»ro0MmE

[fH1]

2R ITFER (x+1)2—7=0 ZfF&/EN,

2]

2 FFFER (x+3)2—16=0 ZRE/RIVN,

[f93]

2R FFFEE %x(4—x)=—%x2—2 TR ETRE,

[fH4]

TWHERX (x—6)2=9 ZfiEiT,

[[#5]
WD FHFREREFRE/2I 0N,

(x—3)2=3x—11

[H6]
WD R ITRERAART,

(x+2)(xt+3)=2x2

(B 2002 4E )

(KR 2002 4E )

(FEB L 2002 4ET)

(RAHEB 2002 4E L)

)11 2002 )

(fEFIRL 2002 )




(R17]
FHEEX 3(x+2)=x2+4x EfRT,

[fH8]
QR FTRR (x—1)2=2 %S,

(9]
TR x(x+2)=x+6 EfEL,

X =

[[4 10]
WD FFREAEfREEI2Z,

2(x+2)(x—2)—3x+10=(x—4)2

(R 11]
TR x(x+1)=5x+5 Efi#T,

(R 12]
2 STFER x(x+1)=3x+24 EfFE/2E0,

ThD,

(ZHIE A 2002 £E)

(REE 2002 F)

(fR R 2002 4E )

(KR4I 2002 4EFT)

(REAUR 2002 4EHE)

(BKH I 2003 )




(R 13]
TR (1) (x—5)+2x+2=0 ZfFEeEW, EEHHELZL,
(1L 2003 %)

Ty

S

[ 14])
2R IR (x+3)2—5=0 ZfRE/EI,
(f8 5 % 2003 4-J%)

[ 15])
2GR (x—5)2=21 ZMFEXRI,
(B EI 2003 )

[[4 16]
QIR x2—4x—2=0 ZfREX/2EW,
(FRZS)I L 2003 4EFE)

[f4517])
2R BRI (x—5)2=4 ZEfEE/E,
(&1L 2003 )

[F4 18]
WD HFEAE RIS,
(x+5)(x—8)=—12
(A 2003 )




[ 19])
WD2R FFEREMREIRE,
(x—2)2=49
(L 2003 4EE)

[ 20]
HRER x(x—4)=12 ZFEEREN,
(E#IR 2003 4EJ%)

[ 21]
FEEHX x@+2x=3(x+4) =T,
(B A 2003 45)

[ 22]
FEX 2x+1)(x—2)=x—x+6 ZfET,
(ZHIF B 2003 %)

[ 23]
ZRITFEA x(x—4)=5 EMEL,
x= , X= TdHD,
(R Ik 2003 )
[ 24]
2R (x+4)(x—3)=—6 %fiFL,
x= , X= T b,
(Kl bk 2003 4 )
[ 25]
RO IR EMREEIRIV,

(x—3)(x+2)=2x+12
(K53 IR 2003 )




[ 26]
TR (x—6)2=4 EFEE/E,
(FEAIL 2003 4EJE)

x:
[f427]
FEEX (x—6)(x+8)=15 ZEfiEX/aXuy,
(KR 2005 )
x:
[ 28]
QRGFER (x+2)(x—2)=—4x+1 EMEREN, fREHHLEZL
(1B 2005 4E %)
figxJ5
//g
[ 29])
HREX (x+2)(x—5)=2x—14 ZFERE,
([ 11 2005 4EFE)
x:
[ 30]
TR (c+2)2=2x+7 EMRELRI,
(BERE I 2005 4EJE)
x:

[1# 31]
QW HFRE (x+1)2=7 ZfRE/RE,
(B E 2005 4EFE)




(1 32]
QW FREI (x—7)2=13 ZfiEE7aS0y,

[ 33]
WO ZRITRERAMRT
X(x+6)=x1+24

(14 34]
WA (x—3)2—6=0 ERE/IU,

[ 35]
WD2R FFEREMREEI2E,

(x+3)(x—3)=7x—1

(R 36]
FHEER x+24=x(2x—1) =T,

(R 37]
FREAX 2x+1)2—Bx—1)(x—1)=48 %},

[ 38]
TR (x—1)2=6 ERERI,

(#4311 EL 2005 4EFE)

(fEHI 2005 4%)

(KRB 2005 )

(F [ 2005 4EFE)

(IR A 2005 4EJE)

(R B 2005 4E)

(=EI 2005 F %)




(R 39]
2 FFFER x(x+6)=x+14 ZfRT,

[ 40]
2 FHFE (x—3)2=36 ZfiEX/aXuy,

(R 41]
TR x(x—1)=6 #fiElL,

xX=

[ 42]
WD2R FFERAMFEI2E,

(x—2)(x+3)=5x—1

[[1 43]
2R FTTER (x—5)2—3=0 ORI, x=

[ 44]

HEAX 3(x+2)(x—2)=2x"—x EREEIRE,

(R 45]

ThD,

2 WA (x—2)2=—x+8 AFX/pE, fifE b EIZL,

(BRI 2005 4£fE)

(I B 2005 %)

Tho,

(fal % 2005 4%)

(K4 2005 4F)

(BRI 2005 4FEBE)

(FKH L 2007 )

(LJEE 2007 4)

fR&ss




[ 46])
2 WHFER (x+5)2=3 Zfig&/asuy,

[ 47]
2 WHFER (x—3)?=10 ZfRE/psuy,

[ 48]

2 WHEA x(x+1)=36—8x ZfEE/aXu,

[ 49]
ROITRENEMFEIRE,

(x+1)(x—3)=3x+3

[ 50]

TR (x—1)(x+1)=5 x+35 EfiFiT,

(R 51]
TR x(xt+4)=24—x ERERIV,

(11 52])
HEX 2(x+2)?=4x+8 EfiRit,

(BrER 2007 45

(FZ)I L 2007 %)

GBI 2007 %)

CHJIIE 2007 4)

(IR 2007 £

(BB 2007 4BE)

(b A 2007 )




(14 53]
FEEX (x+4)(x—4)+15x=0 ZfRT,
(ZHE B 2007 4EJE)

(R 54]
TR (x—2)(x—3)=12 EEE7RE,
(ZHEL 2007 )

[ 55]
A 32 +4 x+14=202+7) ZMRERIV, B X2 ZROHETOMWRED ENTE X230
(FA L 2007 42EE)

s

=

(1 56]
TR (x—2)(x+3)=6 EfEE/RE,
(B mil 2007 4FE)

(R 57]
TR (x—1)(x+9)=8x EfEE/aXW,
(BB #%# 2007 )

[ 58]
2 IR (x—2)°=x+10 ZfET,
(EIF I 2007 )




[ 59]
WD 2 WITFERAEMRE RS,

(x—2)2—17=0
(K3 2007 )
x:
(R 60]
TWFHREA x(x+3)=18 &I,
(HFR 2007 )
x:
[ 61]
FEER 2(x+3)( x+5)=48 ZfRE/2E,
(FKHIR 2008 )
x:
[ 62]
2 WHFEX (x+3)(x—1)=5x+7 ZfRE/REWN, fRExHTHECZE
(ILFE I 2008 4
fiR =t |
/}§
[ 63]
2 WA (x—3)?=5 ZRE/RE,
(B £ 2008 %)
x:

[F4 64])
2 TR (x+4)°=6 ZMREE/AEV,
(FhZ3)11 I 2008 )




[ 65]
WRDOFEARAEMREREN,

(x+6)>+1=50

[+ 66]
WD IR IR EART,

(x—3)(x—4)=2 (¥*—9)

[ 67]

2 WHRRA (x—5)2=4 ZRERE,

(R 68]
FREKX (x—4) (x—3)=x =T,

[ 69]
FHEEX (x—8) (x+1)=10 Zfi#T,

[ 70])
2 WHRA (x+5)°=1 %L, x=

(R 71]

KRR (x+3)?=8x+17 ZfRE/2E,

ThHD,

CAJIIE 2008 4)

(fRHIR 2008 4EJE)

(I BB 2008 4 £)

(ZHIE A 2008 4 FE)

(ZHIE B 2008 4FE)

(BRI 2008 4EEE)

(1L 2008 4£)




(R 72]
2 WHTFER x (x+4)=12 ZRERIN,

[ 73]
2 WA (Bx+2)(x—2)=2xX2—7 ZEf#iT,

[ 74]
2 WK (x+2)°=9 ORI, x= Thb

[F4 75]
FEER x (x+4)=2x+3 ZRE/E,

(1 76]
2 IR (x—3)°=—x+15 ZRERE, R b ELZE,

(I a B 2008 4EJE)

(RIFE 2008 %)

(PRI 2008 £E)

(BKHE B 2009 )

(LIPS 2009 )

<fREJ5 >

i

=

[f4577)
2 WM P—T7=0 ZfRE/eS,

[ 78]
2 WHFER (x+2)2=7 HIRX/RE,

(R 2009 )

(B £ 2009 F )




[ 79]
2 WHER (x—6)?=5 ZfRE/pE,
(P23 L 2009 4E)

[ 80])
WD 2 W HRREREMFEI2E,
(x+4)?=25
(#2009 )
=
[f4 81)

FHERX (x+2) (x—4)=7 Zfi#T,
(ZmE A 2009 %)

x—
[f4 82]
2 WHEX (x+2)2=T7x+4 Zf@t,
(ZZRIE 2009 4£BE)
x—
[ 83]
FHRER (x—3)(x+3)=6x—2 DEDIL, EOLDIE, x= Thb,
(ML 2009 )
[[H 84]
TWITRRA (1) (x—3)=—3 ZfRE/aE,
(& 2009 4EJE)
x—=

[ 85]
TR x (x+2)=3 (x+4) EfiEL,

x= , X= THD,

(f& [ . 2009 4EJE)



[ 86]
2 KRR 22+ 5x=(x—2)(x+2) %fET,

(14 87]
2 WHRA (x+3)°=7 DOfEIL, x= ThD

[ 88]
FREAX (x+4) (x—4)=3x—6 ZEE/RX,

(R 89]
2 WHFEX (x+3) (x—3)=—2x—1 ZfRE/s, R b ECCE

(R 90]
2 WA (x—4)?=3 ZfFx/pEn,

[ 91]
2 W (x+3)2=11 ZfiEX7peE0,

(R 92]
TR (x+2)2=36 RS,

[ 93]
2 WHRER (x+5)2=7 EEE/pE,

(RIRFI 2009 )

x:

(PP 2009 )

(FKH L 2010 4E1E)
x:

(LR 2010 4E))
X= X=

(BRI AT 2010 4HE)

(B ER % 2010 4£FE)

CREER 2010 4EE)

(FRZ3)I I 2010 AR )




[ 94]
WO FRER BRI,
(x—1)2=2x+6

(R 95]
WD IR FFEAEART
X(X—3)=—5x+3

[ 96]

WD 2 WITREAAMET2 S,
(x+1) (x—1)=x+41

[f4597])

FEER x(x+8)=3(2x+5) EfFE/aE,

[ 98]

2 WITFEA (x+3) (x—5)+3x=5 ZfEiT,

[ 99]

RO IR EMREIRS,

(x—2)?=16

[ 100]

HERA x(x+2)=3x+6 OO, EOboid, x=[ | Ths

(E)IE 2010 4E%)

=
(fEFEIL 2010 4E1)
=
(BRI 2010 4E5T)
=

(B A 2010 4E )

(R 2010 4£5T)

(Frak LB 2010 4EJE)

(R 2010 4EB)




[R5 101]
R x—6)2=13 ZRE/pE0,

[f4 102]

SRR xx+3)=20x+1) AE x= | |.x=| | <c#s,

[R1 103]
TWFRE (x+5) (x—2)=2x+2 EfREIE,

[ 104]
TRHRRR (x—2)2=25 AfEEiRE,

[R5 105]
2 WITFEA (x—1) (x+2)=—3x+10 ZfiflT,

[F5 106]
2 TR 2x+1)(x—1)— (X +2)(x—1)=0 ZfRE/2E,

[R5 107]
TR x—1)°=4 ERERE,

[F 108]
2 WK (x—1)°=15 ZREE0,

(EBE 2010 4EE)
x:

(F@ R 2010 4B
(R R 2010 4R1)
x:

(B % 2010 )
x:

(R 2010 4E)
x:

(R4 2010 4EBE)
x:

(BRI 2010 4FE)
x:

(B2 2011 4E )




[ 109]

2 WHFEX (x+3) (x—2)=2x ZFE/REY,
CBris . 2011 42B)

[ 110]

HER (x—2)2=x+4 ZMERE0,
(B A 2011 4E)%)

x:
[ 111]
FERA 2x+3)=x—1)2 ODIL, ADLOE, x=| | Thd
(LB 2011 AR )
x:
[fH112]
TR x(x—4)=32 ERERIV,
(BRI 2011 4R )
x:

[ 113]

2 UFEA x—42=60ftit, x=[_____ | ths
(PPHBIL 2011 4F)



